i 5% 131240 § &2y - Sk
7o 110# 2534 B 3 & 3 3= 53 #3340

J

MOLR (—>;¢.¢fw+ ?—’r?iﬂi%
7~ :\45}’/%\ ’F:IZ— ‘5\%\%’{}1 ié%l}(ﬁ@hlﬁﬁ;"'ﬁ’ I——P—é“é F oy 1/\*‘:4%“5\.} IT:_@—% y A3 ,L/n\ o
(_.)ﬂ\?lﬂf ?;?E\'ﬂi«,_é )(\‘ ]"ﬁ‘éwd\@Qg’ngo
- EAHEN G R BRI RA R R REB 4 E
RN z&ézagmfk»mqa,ﬁgiﬁuﬁmﬁﬁgu
Feer e 2 REA B o T F > R Ztkle dz ~ (Umversal Basic Income) >
B2 A Afer B 7R 0 IR BB P 050 2 (254 )

:\@¢%@£#?W%’pﬁﬁiéﬂwbmﬁéi AT TR
KR F] ~ 42 T RIS i &#amﬁmmv’I%éﬁ—ﬁb?*ﬁ
FAIRD TR BT (25 4)

i

CMBER e R THFES A P 2B B A
“zF )]'-Jl'-»‘ax/zt m_—!_ «ing ’ %E,llgj"}"‘/r\ <25Au\>

Ny
X5

’-'\

AT

=

o FAE 4 mﬂﬁixﬂﬁ‘ﬁ%#éﬁ%i’%iﬁ~i*i%4&~
s P o #’i:.l fﬁ?‘\““’*Mi\°d*“F&l‘§1ﬁ‘§L p#\,T* o R R R
£ EEY o AR A G TR 13-%; [0 3@“94#' 13 3 PR L Hp S
- %E‘éam#ﬁ FARE? (254 )

=l



